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Show |G| = 12. Clearly G subset S_4. For permutation p in G, we have 
p(1) in {1,2,3,4} and p(2) in {1,2,3,4}-{p(1)}. But p(3) is the unique vertex clockwise from arrow p(1)-->p(2), since rotation maintains orientation.
Total choices for 4 vertices: (4)(3)(1)(1) = 12. 
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#9 Cuboct
Cayley graph
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Cuboctahedron should be drawn in 3-dim perspective; vertices labeled with group elements; edges oriented & colored with generators R1 & R2
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It's OK to label R1 as R1^(-1) etc, and vary labeling of A,B,C. But labels must be consistent, perms agree with matrices.

magyarp
Text Box
A




